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Candidates are required to give their answers in
their own words as far as practicable.

UNIT-1
1. Answer any five of the following questions:
1x5=5
fasferiee @-@eE “nfs aee Te nie ¢
a)  Give an example of natural polymer.

eﬂisiu@ IZETF-AT THIEFE WIS |

b) Indicate the end groups present in
polyethyleneglycol.
AT 23F-q Toifge A€l Tl o
*q

¢) Name the dominant non-covalent interaction
that operates between polymer chains of

polyamide.

sAfereniize *eelE Nuze auw e @ e
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d)

g)

h)

Give one use of natural rubber.
Afpfos FAF-99 G0 T2 (=74 |
Expand the abbreviation of PET.
PET-93 #Jca1 1% {52

What linkage is present between the chains in a

vulcanized rubber?

ClETHINIRS AT *Jeeraler e &6 4@ Aol
TSI ?

Define the term, ‘co-polymerisation’.

FEIZSAT -AF L WS |

Draw the repeating unit structure of poly

(I-hydroxyethylene).
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UNIT-1I

Answer any two of the following questions:

5x2=10

fasfeiiee @i gfo aess Ted wie ¢

a)
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What is meant by degree of polymerization?
Calculate the molar mass of polyethylene which
has a degree of polymerization of 100. Give one
example of filler. 24+2+1=5

(2)



b)

d)
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Write short notes on:
A<ERe Bl (=12 ¢

1)  Free radical chain growth polymerization

TEETF IO IZCI]

21+21=5

11)  Thermoplastic polymers.
AT 2T (SAfeTe)
If the two monomers H ,C=CH(CN) and
H,C=CH(CONH,) are combined, then write
down the structure of random and alternating
co-polymers obtained. What is meant by glass
transition temperature of a polymer? 3+2=5
H,C=CH(CN) ¢ H C=CH(CONH,) S[(SI5rax=
A CeAlfrs e Aferng ¢ awres
AZ-ATCTIRGRT SoPREES @4 | ARTIET b
BT TSl JeIce F (@R
What is Bakelite? What are the raw materials
needed for its production? Write down all
necessary chemical reactions. Give an example
of a plasticizer. 1+1+2+1=5
PIFRT 62 @ Tesimes 5 1 <@ dres 232
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UNIT-11I

3.  Answer any one of the following questions:

10x1=10

fasfafie @-@iE 9 am Tex wie ¢

a)

b)
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Write down the structures and IUPAC names of
A and B in the following polymerization

reactions:

fefie qeeress [Riegam A u3g B @
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i) AP0, LCH,C(CH,)

H CH,
L]
|

L docro

i 1) B Polymarization

Give the criteria of polymer solubility. Write
the full form of PC. 3+3+3+1=10

AT (ITT9)-43 TGO *$ Wie | PC-43 7<%
RIENGER

What is number average molecular weight of
polymer? What molecular weight averages are
obtained from end-group analysis and light-
scattering methods? Show the repeating unit that
would be obtained from the reaction between
H,N(CH,)) NH, and CIOC(CH,),COCI. Match

Column-I with Column-II.

(4)
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=% H,N(CH,),NH, @<¢ CIOC(CH,),COCl-4¥
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Column-I Column-II

a) Polyvinyl alcohol Ethylene

sfferfenizs ez | 3o

b) Polystyrene Tetrafluoroethylene
ARPHIRR R FR&GIERIER

c) Partial hydrogenation | Water soluble polymer

of acetylene
-9 SiRe | wie wiky Al

d) Monomer of teflon Toluene soluble polymer

-9 R Ge12a-9 iRy sifersa
2+2+2+(1%4)=10
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